KENDRIYA VIDYALAYA SANGTHAN, HYDERABAD REGION
SOCIAL SCIENCE (CODE 087)
CLASS X SET-2
I-PRE-BOARD EXAM-2024-25
Time Allowed: 3 Hours Maximum Marks: 80

Read the following instructions carefully and follow them:
(i) This question paper contains 37 questions. All questions are compulsory.
(if) Question paper is divided into six sections Section A, B, C, D, E and F.
(iif) Section A Questions no. 1 to 20 are Multiple Choice type questions. Each question carries 1 mark.
(iv) Section B Questions no. 21 to 24 are Very Short Answer type questions. Each question carries 2 marks.
Answer to these questions should not exceed 40 words.
(v) Section C Questions no. 25 to 29 are Short Answer type questions. Each question carries 3 marks. Answer to
these questions should not exceed 60 words.
(vi) Section D Questions no. 30 to 33 are Long Answer (LA) type questions. Each question carries 5 marks.
Answer to these questions should not exceed 120 words.
(vii) Section E Questions no. 34 to 36 are Case-based /Source-based questions with three sub-questions. Each
question carries 4 marks.
(viii) Section F Question no. 37 is Map skill-based question with two parts 37(a) from History (2 marks) and
37(b) from Geography (3 marks). This question carries total 5 marks.
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SECTION A
(Multiple Choice Questions) (1x20=20)

1 Choose the correct statement about the image given bellow. 1

Ia & S Bl F IR § wE YT |

(a) This image was painted by artist Lorenz Clasen.

(b) This image was painted by artist Julius Hibner.

(c) Germania guarding the Rhine was the title of this painting.
(d) Philip Veit was the artist who have made this painting.
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(T) I8 B HATHR AN Fa- gRI ffEd &1 13 i
(@) I8 B FABR Jforay g gRI FIfHd &1 718 ot
(&) T DI & B arar ST 39 UfeT BT i Tl
& fipfer die, a8 FaeR A RSl gg e 718 o

You are a citizen of a country that has a democratic form of government. You want 1
to ensure that the system of power-sharing in your count is effective and that no one
branch of government has absolute power. Which of the following measures would
best meet this goal?

(a) All power is concentrated in the hands of the Central Government, which has the
final say in all matters.

(b) Power is divided between the Central Government and the states or provinces,
with each level having its sphere of influence.

(c) Power is separated among the legislative, executive, and judicial branches, with
each branch having its responsibilities and powers.

(d) Power is shared among different levels of government, such as the national,
regional, and local governments, with each level having some degree of autonomy.

310 T T S P AN & 5T TRPR BT Wbl W ¢ | 31T T AT

HAT 18 & b 3! A H TSI 3 yorelt guTd § 3R IRSBR B

foraft 1Y U wman & Ut guf wifdd 76t 31 Fufoiea & 9 o a1 3ur 39 deg

®I Faray =0 I T BT

gv@ﬁ%w%aﬁﬁ%@a%ﬁawaﬁwmﬁﬁaﬁnﬁﬂhsﬁ
|

@;ﬁaw 3R X7odt a1 Uidt & & fauIford 8, U R 1 31U UHTd

|

@& e, FAGRY 3R <nfe mastt & ofe wfad &1 srerT fovar a1 ], Ul

RAT 1 SO Fordeiat ok wfdaai g1

(S Tl B WHR & fAftra W, S APy, &A1Y SR RIHE WHRI & &

T fohaT ST €, e TR R $© 86 dd Waddl gidl ol

Which of the following factors significantly contribute to the process of 1
globalization? Select the correct options.

1. Expansion of Multinational Corporations (MNCSs).

2. Advancements in information and communication technology.
3. Nationalization and trade barriers.

4. Cross-border movement of people for shopping.

Options:

(a) Statements 1 and 2 are appropriate.

(b) Statements 1, 2 and 3 are appropriate.

(c) Statements 2, 3 and 4 are appropriate

(d) Only statement 3 is appropriate

W@gﬁﬁﬁqﬁw%ﬁwﬁu&mﬁm@ﬁwéﬁ%w
fdmea g |

1. SRS FATTHT (THUET T faaR |

2. Il 3R YR Ui § SAfd|

3. 3R AR S1YTT |

4. & foru ATl ) T UR SMTaTSiig! |
faPpeu:

a) BYT 1 3R 2 IUYH &
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b) HYUT 1, 2 3R 3 IUTHI ¢ |
¢) Y 2, 3 3R 4 ITYH g
d) $ad HY 3 IUG 3

Consider the statements given below and choose the correct answer. 1

Statement I: A communal mind-set can lead to efforts to secure political influence
for a specific religious group.

Statement 11: Members of the majority community may seek to create a separate
political entity as a response to such dynamics.

(A) Statement (1) is correct and (I1) is incorrect.
(B) Statement (I) is incorrect and (I1) is correct
(C) Both (I) & (1) are incorrect

(D) Both (1) & (I1) are correct

2 feu T HY R AR Y 3R TE W T |

YA |: T WiYaIS ARG Uh RIS e THg & e Iemifae gy
I IRI&T A & TA DI o ¢ IHhll g

DU ||: IgHBIH G & oy U fa=iterdr &t ufdfehar & U 4 T e
RIS SIS S Bt AT B Jhd ¢ |

(@) FU (1) F51 8 SR (11) Tad |
@ Y (1) T § 3R (1) T&1 §
@& S (1) 3R (1) e §

(Sh & (1) 3R (11) T

Why should an individual be worried about underemployment? Identify the reason 1
by choosing the correct option.

. It reduces the earning capacity of a person.
I1. It results in a poor standard of living.

I11. It leads to poverty.

IV. It helps in human development.

forht safda &1 SRR & IR H fifad i @11 =nfew? Wt fawred g,

|. I8 o B HHTS DT &I DI HH IR ol 5|

11, SHP URUTIRGEY e W) ¥R 81 oirdl ¢ |

111, 98 TR &1 iR & Srar g |

V. Ig A4 f[dh § WeH® il 6|

Options:

(a) Only 1 (b) Both Il and 111
(c) I, Iand 1 (d) Only IV
Match the following: 1
(A) Reserved Forests (i) Northeastern States
(B) Protected Forests (if) Andhra Pradesh
(C)Unclassified Forests (iii) Haryana
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6. FafcRad &1 e &3

(@) 3RfEe o (i) IR gdf I

@) Wi a7 (ii) 37 TG

hsrafied o= iiiygfearom

(@) A(i),B(ii),C(iii) (b) Aiii),B(ii),C(i)

(c) A(i),B(iii),C(ii) (d) A(ii),B(iii),C(i)

If the Body Mass Index (BMI) is , then the adult person would be | 1
considered under nourished

@) Less than 18.5 (b) Less than 10.5

(© Less than 25.5 (d) Less than 28.5

g dTe! O SSad (STHSMTS) 8, Ol 9% fad &1 Huid
HIAT ST

a) 1854 HH (b) 10.5 9 HH

b) 25.5 Y HH (d) 2859

Which among the following is known as a system of checks and balances? 1

(a) The judges are appointed by the executive and further judges can check the
functioning of executive or laws made by the legislature.

(b) The Supreme Court Judges can check the powers of the High Court Judges.

(c) The President of India appoints the Prime Minister and further the Prime Minister
checks the Powers of the President.

(d) All of the above

e & 3 frd St 3iR Tqe o1 Tumel & U & ST ST 82

(@) =N o1 Fgfey sriuTfereT gRT 1 STl § 3R S =iy srfurferest

& SBTHBIS! 1 [T GRT ST TTT B! Bl g bR Jhd & | .

%?W%WWWW%WW@W@G@W
|

() HRA BT APl T et ot FRgfad =1 § SR SR ge w3t Iyufd 3

IfeRmdt &) Sifd a1 B

(D) SWRiad Tt

The creation of linguistic states was the first and a major test for democratic politics | 1
in our country. Identity the status given to Hindi by the Constitution of India.

(a) Regional language (b) Official language
(c) National language (d) Community language

HTNTE AT T AT gARY 1 A epdife IoHifa o) Ugel 3R St usiar ot
SR URA & AU gRT iEet ®I fau 7T o &t Uga@ &1

GEERRIL (&) JSTHTST
(¥ AT (S T H
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10

Arrange the following in a chronological order.

0] Interest rate of loan is 8.5% per annum.

(i) Shyam applies for a credit.

(iii) Bank agrees to keep cold storage receipt as collateral.
(iv)  Terms of credit is signed by Shyam.

Options:
() (ii), (i), (iii), (iv) (b) (iv), (iii), (i), (i)
() (i), (iv), (iii), (i) (d) (iii), (iv), (i), (i)

fafaRad @ Hrars s Ho § Tafyd H1|

(i) U1 B! TS X 8.5% Ufd a¥ ]

(ii) T HfSe & forg 31ded e gl

(iii) P PIcs TRl IWIe DI JUIHd & T T 3@ & ol Tgad g
(iv) TSe B AT R W gRT g&1ER T E|

fameu:
() (i), (), (iii), (iv) (b) (iv), (i), (), (ii)
(c) (i), (iv), (iii), (i) (d) (i), (iv), (i), (i)

There are two statements, Assertion (A) and Reason (R). Answer these questions
selecting the appropriate option given below.

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true, but R is not the correct explanation of A
(c) Alistrue, but R is false

(d) Ais false, but R is true

G FHYT & BT (@ SR BRU (R | 13 137 7T 3 13T H7T 797 FHV
57 741 & Fav qforg )

(9 T SIR 3/ G 7 8 3IR 3/, § 7 el WEfeber e
(&) TR IR GG &, AT 3R, T PT G571 TPIHT 767 6
(F) TG E dT IR T8

(&) TIIT 8 ST IR T8

11

Assertion (A): Democracy are based on political equality.
Reason (R): All individuals have equal say in electing representatives.

IfHBYT (A): AHad IoHITIS THHA TR MR B
BRI (R): WAl & gma & 9t safaqdl &1 9am YHe gl 6|

12

Assertion (A): Chotanagpur plateau region has the maximum concentration of iron
and steel industries. 1
Reason (R): The iron and steel industry are called basic industry.

SfUFHYT (A): BICHNTR TSR & T ARl 3R F¥UI I BT 31fpan
BEAUES
PRI (R): AET 3R T ST B! T SN H8T AT 6|

13

Consider the statements given below and choose the correct answer.

1
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Statement | : The silk routes are a good example of vibrant pre-modern trade and
cultural links between distant 1

parts of the world.

Statement Il : Trade and cultural exchange always went hand in hand.

(a) Statement 1 is correct and Statement Il is incorrect.

(b) Statement I is incorrect and Statement Il is correct.

(c) Both Statements (1) and (1) are correct.

(d) Both Statements (1) and (1) are incorrect.

2 feu T HY R AR Y 3R TE W T |

HY |: I AN g1 & -1 & el & o Sfidd gd-emyfe AR 3R
Tiep e Taitll bl Ueb 3T eI B
HU |1 IR 3R AP IAD SGH-TGH FHR F1Y-I1 Iad J|

(a) YU | T&I § 3R HYF 11 Tad g
(b)aﬁu:fma?r%eﬁ?am:rnﬂ-sﬁ%l
(c) B (1) 3R (11) S WET &l
(d) FYF (1) 3R (1) S Tad B

14

Resource planning is essential for existence of all form of life

(a) Ecological balance (b) Exploitation
(c) Sustainable (d) None of these

St & g4t =ui & 3T & o TareA i e §

(3 feras @ 5TH I B e

15

Identify the correct option that describes the act given below.

The Act was passed by the Imperial Legislative Council.
It gave power to the government to repress political activities.
It empowered the government to detain political prisoners without trial.

(a) Rowlatt Act (b) Vernacular Press Act
(c) Government of India Act (d) Inland Emigration Act

I feu e siffaw @1 9uiH HA a1d I8! fased & ugaH | I8 Sififaas
SURTd afvrwifed BRI gRT UIid fobar a7 T 399 WRER &I IS-dd
Tfafafert ol gam o wfdd ¢ < 391 WBR & AoHifae bl i fomr
gohe I fBed 8 @ &1 IR faar|

(@) e Toe (&) FTegeR U T
(& HRd PR Hfefan @) Siaeia Iaar sffrH

16

Read the information given below and select the correct answer:

Rita has taken a loan of 7 lakhs from the bank to purchase a car. The annual interest
rate on the loan is 14.5 per cent and the loan is to be repaid in 3 years in monthly
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instalments. The bank retained the papers of the new car as collateral, which will be
returned to Rita only when she repays the entire loan with interest. Analyse the loan
information given above, considering one of the following correct option:

(a) Mode of re-payment (b) Terms of credit
(c) Interest on loan (d) Deposit criteria
3 & TS TSR Ue 3R WE IW I

a1 3 PR WA F N 9 A 7 AR &1 A ferar g, A WR a1 7ol &% 14.5
Tf=Td 8 SR @ 3 1a & ATy fohedl B GBI glaT 8 | 8 7 1S SR &
BT YUTfes & =0 | U= U 3G forg, ot a1 & it ATt e oid 98
TS Figd TR 301 bl it | (aferRad Tel fddbeu § 9 fordfl T R faaR ord

U & TS B THBR! BT e &3
(Q©) T: YT BT aRiebT @ hfee ot =rd
@) B R S S ELIEIEES

17

In dealing with social divisions which one of the following statements is not correct
about democracy?

Statement I: Due to political competition in a democracy, social divisions get
reflected in politics.

Statement I1: in a democracy, it is possible for communities to voice their
grievances peacefully.

Statement I11: Democracy is the best way to accommodate social diversity.
Statement 1V: Democracy always leads to the disintegration of society based on
social divisions.

Options:
(a) Statements | and Il are incorrect
(b) Statements I, I, and 1l are incorrect

(c) Statement 111 is incorrect
(d) Only statement 1V is incorrect

ggg?w fquTer O g § Fufiad § @ S 915y I8l 781 § Aibda &

HY |: Abaa § Jo-iTae Ufawaef & SR, IraTSe faHTeH Iomifa §
gRafed gl g |

FYA |1: Alhad § e & fore Fifdgde So1t Rierrd saad H3-1 J9a 7
HYF 111: Apdd TS AT B AT B BT I 3BT RIBT 8 |
muq%lv:@w'asﬁvnwﬁﬁﬁmm%aﬂwmwéﬁﬁwﬁama
EISI

faweu:

(@) HYF | 3R 11 7T §
@HBYT I, 1 3R 11 T &
&h HYF 11 T B

@ Had HYF IV TAd &

Page 7 of 15




18 | Which one of the following is not a developmental goal for the landless rural
labourers?
a) More days of work and better wages.
b) Local school is able to provide quality education for their children.
c) c)There is no social discrimination.
d) d)They cannot become leaders in the village.
e & @ o a1 Y= g geigli & g feriees e el 82
a) P & TATaT &7 SR S5k Aol |
b) RIHIT Wpd I =il ! oAUl e Ue &3 § WeH B
c) IS WIS HGHTd el &)
d) 97a ¥ a1 8] a9 Johd |
19 | 10,000,000 people died in Ireland between 1845-1849 due to
(a) potato famine (b) epidemic
(c) foreign invasion (d) drought
1845-1849 & 19 3TARGS & 10,000,000 AT 1 HId g3
(GEINCIEEI CHENEIN
(@ fae=h ampa0r @hgre
20 | Evaluate the impacts of opening foreign trade on the global economy by identifying

the appropriate statements among the following options.

I. The choice of goods in the markets increases.

I1. Producers from two countries closely compete against each other despite the
distance between their locations.

I11. Foreign trade thus results in connecting the markets or integration of markets in
different countries.

IV. The quality of the product is always good.

Options:

(a) Statements | and Il are appropriate

(b) Statements I, I, and 11l are appropriate
(c) All the statements are appropriate

(d) Only statement 1V is appropriate

frgfafad @ uga™ wxd Ay srfarawe W facxht TR Wi & gyTal &1
gie &y, FAafaRad fasedl O 9 Suged B

1. STOTRI H I3 P Ui 9 Sl & |

1.3 =0 & fmfar o wiHl & &t #t gt & STacie Th-gIR & fRJadd
gfergef Hd |

11139 YR 3= sauR & uRumiear=y fafts 2 & STeiR) & SiisT Sirar g ot

STSIR} T TehIhRU fhaT SITaT 3|
V. JTE Pt T[UTaT SHR 33T Bl &.

faweu:
(@ HYF | 3R 11 SUGe §
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@ Y1, 11 3R 111 I &
@) e s IRA

@) Fad HY IV IuYd §

SECTION B
(Very Short Answer Type Questions) (2x4=8)

21

Discuss the manifestation of the idea of secularism in the Indian Constitution

YR Sfaem & yHifARuear & foaR & v R == 6

22

“Resources are indispensable part of our life”. Explain.

"I SHR Sia T IR T 8" | saReat 31|

23

Some Congress leaders were reluctant to commence the Non-Cooperation
Movement. What was the reason for it?

SIRIGANT 3G & YB3 BT a1 ITQHAIT 3 53 | SUBT HRUI T 62
OR

Why did the Muslims fail to respond to the call of unified struggle during civil
disobedience movement? Explain.

TfaTg 3aF 3ficia & SR GHAHM ThIghd Toy & STgH WR ufafehar a3 o
fathel Rl Xg? SR AT

24

Analyse the role of Information and Communication Technology in making
globalization possible.

i1 Bl FHT F H G 3R TR Wit ot YfiresT &1 fazawor & |

SECTIONC
(Short Answer Type Questions) (3x5=15)

25

Describe the three-fold distribution of legislative powers between Union
Government and the State Government.

Y WDR 3R oY TIHR P a7 [FUrh widaat & Brasty faror &1 gufa &3

26

Explain the different stages of unification of Italy.

Sl b ThIchUl o [AHa TRUN o1 HRSAT B |

OR
Why was the decade of 1830s known as great economic hardship in Europe? Explain
any three reasons.

1830 % G &I IRG H A 3N HioTs & U T FT o1 STl U1? Bl i
PR WY BT

27

Differentiate between conventional and non-conventional sources of energy with
examples.
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JTE Ifed URURS 3R TR-URURS IHoll Fdi & dig 3R WY B |

28

Compare Tables “A” and “B” and answer the question given below.

Table-A (Share of Sectors in GDP in %)

Year

Tertiary

Secondary

Primary

1973-74

50

10

40

2013-14

68

21

11

Table —B (Share of Sectors in Employment In %)

Year

Tertiary

Secondary

Primary

1977-78

18

11

17

2017-18

31

25

44

A remarkable fact about India is that while there has been a change in the share of
the three sectors in GDP, a similar shift has not taken place in employment. Why
didn’t a similar shift out of primary sector happen in case of employment?
Substantiate your answer.

YRd & IR B U Iei@-19 a9 I8 § [ gl b d g 31G H <1+ &l &bl
feeR! & 9gaTd 3T ], 981 ASHIR H I8 9adTd ol gfl g | JASHTR & HTH
T Uit & TH 9Gdrd 9 el g3 31U IR BI YHI $e,

29

What is the main criterion used by the World Bank in classifying different countries?
What are the limitations of this criterion, if any?

29. fay b gR1 faftret <=1 1 arffepa 3 H IuAINT ot S arent H& AFd S
182 T4 AMGS o1 AT 18, TME DS 812

SECTION D
(Long Answer Type Questions) (5x4=20)

30

Explain any five challenges which are faced by the Political Parties in India.

R B ISP adl § GUR & (o0 Bl Urd diic e 3R JHgmd|
OR

What are the characteristics of a political party?

IoHIfa® d B fa=IvdTd =T 82

31

How did the Non-Cooperation Movement spread to the countryside and drew into its
fold the struggles of peasants and tribal communities? Elaborate.

SIIETNT TGIer UTHIUT SATeh! H ol thed 7T 3R forami 3R srfeardt agemrt
P YT bl U 3R P b fobar? faarR & admT|

OR
“The civil disobedience movement was different from the non-cooperation
movement. Support the statement with examples”

iy AT fiara TN 3fara- o fHe UT| IS0 Aied HYU= ol JHYT

”|
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32

Describe the various technological and institutional reforms which led to the green
revolution in India.

3 Al aopierT SR TR GURY &1 90 &3 orgia URd § gikd wifd &
HHT IR
OR

Suggest the initiatives taken by the government to ensure the increase in agricultural
production.

P IATGH | gig AT B & oI IRBR GRI 1 T3 Ugdl ST gFa < |

33

Miss X wants to start a savoury food store in her village. She wants to supplement
her income to raise the standard of living of her family. How, do you think, self-help
groups can help. Support your answer.

B T 31U T1id B U WGy HIsH &1 g & &l 915l g | I8 30
IRAR & Sfia TR DI SHUR I & 1T ST 3T B YR ST A1t g | 37T
T Aad 8, WY TeTIdl THE Y UGG B Adhd 5?2 0 IR BT JHUT B

OR

Money by providing the crucial intermediate step eliminates the need for double
coincidence of wants. Justify the statement highlighting the significance of the
modern form of money in India.

AEAYU! HAd! Bl UaH HRdb U SRexdl o GIex SN &1 HTaRIdHdl Bl
T FR &l § | HRA B T & MY WY & Agd R BT STe aral
Y DI gfY HIFY|

SECTION E
(Source-Based/Case-Based Questions) (4x3=12)

34

Read the extract given below and answer the questions that follow:

Following the defeat of Napoleon in 1815, European governments were driven by a
spirit of conservatism. Conservatives believed that established traditional institutions
of state and society — like the monarchy, the Church, social hierarchies, property, and
the family — should be preserved. Most conservatives, however, did not propose a
return to the society of pre-revolutionary days. Rather, they realized, from the changes
initiated by Napoleon, that modernization could strengthen traditional institutions like
the monarchy. It could make the state’s power more effective and stronger. A modern
army, an efficient bureaucracy, a dynamic economy, and the abolition of feudalism
and serfdom could strengthen the autocratic monarchies of Europe. In 1815,
representatives of the European powers who had collectively defeated Napoleon, met
at Vienna to draw up a settlement for Europe. The Congress was hosted by the Austrian
Chancellor Duke Metternich. The delegates drew up the Treaty of Vienna of 1815 with
the object of undoing most of the changes that had come about in Europe during the
Napoleonic wars. The Bourbon dynasty, which had been deposed during the French
Revolution, was restored to power, and France lost the territories it had annexed under
Napoleon. A series of states were set up on the boundaries of France to prevent French
expansion in the future.

it fAT T 321 1 UE SR FHP d1G 3T a1l Uil b IR &
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1815 © AUIferdd &1 8R & dlg, UG WHR Figdlg &l UG ¥ URd |
EfeaTedl &1 AT AT o I 3R THTS &t R TRARS TRITY - S} AT=ATET,
o, YT eI, Tl SR IRER - &I WRiéd fasar ST anfeu | grafios,
H@ﬁmmﬁﬁﬂujwﬁmrﬂﬁ%wﬁmwwﬁml
feth, Igi AU §RT = T 7T uRadHl 4 Hegd foan o sneyfesiavur
ISR SRt URURep GIT3H] P FoTe bR Webell | I8 T P UTa Bl 3R
THTG 3R AT &1 TebdT § | U 3MYfeh I, Th BRI AIhRTe], Tep iaefia
SrfaraRT 3R FrHdaTe SR SRIdT BT S IR & ARG A & Aoigd
TR bl g | 1815 H, TR Mfaqal & Uiy forein Tmfes U ¥ Aaifera &I
ERT YT, TR & T Uk THEAT R - & fore i & firet | w10 ot Aetart
TS IeR Sg@ Aerfa A &t | ufafAfert 3 1815 o} fagn Ty quR &t
WWW@%W@Uﬁma@mmﬁaﬁﬁqﬁaﬂm
7| AT Sifd & SR S(UeR fbT 7T Sid Ao ! IJm & aray ofrm a1
3R AT = e & 31ef 3o deot B forg 17w & ot Y fa | wifsa o et
IR &1 Ap & T Wi &1 137 IR FHs Iodl B R 61 T3 |

34.1 | What was the purpose behind convening the Congress of Vienna in 1815? 1
1815 H foTHT &1 HIUT A & Ul T 3] UI?

34.2 | What did conservatives focus on at the Congress of Vienna? 1
31 1 HIUY H Fleariadl A fod W & bigd fdbanr

34.3 | How did the Congress of Vienna ensure peace in Europe? 2
R 1 S = R0 A i 5 gRfg Fh

35 | Read the extract given below and answer the questions that follow:

Democracies are based on political equality. All individuals have equal weight in
electing representatives. Parallel to the process of bringing individuals into the
political arena on an equal footing, we find growing economic inequalities. A small
number of ultra-rich enjoy a highly disproportionate share of wealth and incomes. Not
only that, their share in the total income of the country has been increasing. Those at
the bottom of the society have very little to depend upon. Their incomes have been
declining. Sometimes they find it difficult to meet their basic needs of life, such as
food, clothing, house, education and health.

fFrofefead Hid & & 9 ue SR IHd a1a 3 aTel Ushl & IR G-

Aha ST THAT TR TR Bid & | ufafAfat & gra & quft safaaat @
UM Hed BidT g1 AfGadl Bl HH WR W ASHIGS & § a9 & ufehar &
AR, 89 1w SrqAmdarstt & g urd 81 @ Sifa-e=t @il o U 4= 3R
3T BT AP UG ST &1 ST 51 o], =T DI ol 3 H IADT gl
T o 8T § | THIS o ey ael dad & anTl & U fFAHR %A & forg 9gd &H
g1 It 3 H fiRmae 3 W@ 31 wl-w 3= HivH, ®usT, g, Riem ok
AR ST SffaH 1 §ATE! TRevdl I QRT BT GiRehdl Tl |

35.1 ‘Universal Adult Franchise’ refers to which type of equality in a democracy? 1
YA a0 AAIGR Aidhaa B [ PR & THHd BT eiid ol 82
35.2 | Which two group of people make the economic inequalities? 1
3nfife SraHFTaTd foret < gl & i & 8
35.3 | What do you understand by the basic needs of life? 2
Sita 3! gaTd! TReRd! 4 1T9 31 TH3Id 82
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36 | Read the source given below and answer the questions that follow:

"Innovative Rainwater Harvesting Practices in India"

Many thought that given the disadvantages and rising resistance against the
multipurpose projects, water harvesting system was a viable alternative, both socio-
economically and environmentally. In ancient India, along with the sophisticated
hydraulic structures, there existed an extraordinary tradition of water-harvesting
system. People had in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest rainwater, groundwater, river water and
flood water in keeping with the local ecological conditions and their water needs. In
hilly and mountainous regions, people-built diversion channels like the 'guls' or 'kuls'
of the Western Himalayas for agriculture Rooftop rainwater harvesting' was
commonly practised to store drinking water, particularly in Rajasthan. In the flood
plains of Bengal, people developed inundation channels to irrigate their fields. In arid
and semi-arid regions, agricultural fields were converted into rain fed storage
structures that allowed the water to stand and moisten the soil like the 'khadins' in
Jaisalmer and 'johads' in other.co parts of Rajasthan.

H3 ANl A A [ ag3eRita ufRaeHTs] & JHaM SR 3 RIas Sed UfeRkiY
B 3G §Y, ST T YUTTel! JTHTISTh- 3R TfaRONT gl g € 9 Th
FdeN faded gl U YRd H, BISSiad AT & TIY-JT, TIal-
TG JUTTeHt $I Th SFRATYRUT URORT | AT DT aul TR 3R gl &
UHRI &1 T IE T 3R I8 R uifRfae fRufadl sik 3@t oa
SHTARAHATSN BT T B I gU TN ofd, YoId, T] 5Tt 3R 916 oIt S & fog
IS qh-1d fAHRIT B | UeTel 3R vadig &t &, a3 i & forw fdeh
feHTera & TIa 1 Ha' S STadei- I-d! BT (AT fa, faRiy &9 9 I = 7,
U1 & U 1 GURId B & oIl S UR au| ofd Tea- o1 SHAR UR S faar
SITAT UT| ST & &1 & HeM H, AT = 30 Qdl o1 Riams & foie Sierwra 9=
I RId foht | I SR 31l &1 H, HiY & o1 aul seria YR wRasit
# ufvafda & foar w, o ot o 81 9 SR gt &1 99 oo 51 9, i
SAIR H T 3R ISR & 31 3el 7 wigs|

36.1 | Why are rainwater harvesting techniques essential in a country prone to both water 1
scarcity and flooding?

U D1 HHY 3R 1 S D1 SMRIBT aTat <= H N1 o7 Tag- debeitdy ot
TTIF &7

36.2 | How do rainwater harvesting practices contribute to the overall resilience of 1
communities and ecosystems in India?

Iyt o T YUTE YRd B gHert iR uikfRufaet yonferat & w0y adiao &
&Y RIS B 82

36.3 | What role do traditional and modern rainwater harvesting methods play in sustaining | 2
agriculture and domestic water supply?

BV 3R TR STt SMTYfcf 1 FTT T H URUR SR 3yfiep auf oret G
faferat aam yfereeT Fumeh 82
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37a | Two places A and B have been marked on the given political outline map of India. 2
Identify them with the help of the following information and write their correct
names on the lines drawn near them:

A. The place where Gandhi ji organized Satyagraha to help the indigo peasants.
B. The place where the session of the Indian National Congress was held in 1927.

(@) HRd & 3T 7Y Iorifdes 0T AFRE (I8 23 R) R &l R T 3R off
fafed farg e § | Fufefd smer @ Jemar 3 3= ugaH 8k 3% U Wit
TE 3@3N R 37 TE T g

A. T8 R org! it it A et D1 Wt B aret fral ! Teradl & ol JanTg
T 3T fohar 4|
B. 98 R W81 1927 H YR P HIUH T Y g7 U

37b | On the same political outline map of India, locate and label any three of the 3
following with suitable symbols:

(i) Hirakund Dam (if) A coal mine in Odisha.
(iii) Nuclear Power plant in Gujrat (iv) Kudremukh Iron ore mine
(v) Pune software technology park

URA & I IeHIfdd Tuar gHfE W, Fafeifad 3 9 fo] diF o Sugad
Tcid! & Y ga 3R Aad P

OEREEEIL] (ii) NS T TF S @aH |

(iii) ORI H TRATY Solf G4 (iv) PoTE 5 3D WaH
(v) JO! AT0CaaR CaIdrol aTe
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